

## PERSONAL SALE COMMISSION



#### **HOST TRAVEL AGENT**

Every time you enroll an Agent who purchases a Host Travel Agent (HTA) package, you earn a \$70.00 PERSONAL SALE.

There is no limit to how many people you can enroll with an HTA package.

\*Monthly Subscription \$69.95



#### **PLATINUM PLUS AGENT**

Every time you enroll an Agent who purchases a Platinum Plus Package (PPA) you earn an \$80.00 PERSONAL SALE.

There is no limit to how many people you can enroll with a PPA package.

- \*\*Monthly Subscription \$89.95
- \*\*Must be a PPA Agent and enroll an Agent with a HTA/PPA package

### PERSONAL SALE OVERRIDES





RESIDUAL INCOME ON CODES

Residual income on Personal Codes

100% Residual Match on the personal codes of your personally enrolled Agents with a HTA/PPA package

3X9 Residual Matrix

10% Matrix Match on your personally enrolled Agents with a HTA/PPA package

8% Matrix Match on your coded enrolled Agents with a HTA/PPA package

Code: Third personally enrolled Agents with HTA/PPA package.

#### **3X9 RESIDUAL MATRIX**

10	LEVEL	PAYOUT AMOUNT	MAX PER LEVEL	MAX MONTHLY PAYOUT	
L		\$5	3	\$15	
AGENTS	2	\$5	9	\$45	
	3	\$5	27	\$135	\$89.95 CAN BE TAKEN DIRECTLY FROM COMMISSIONS
I PLUS	4	\$6	81	\$486	1 PERSONAL
PLATINUM	5	\$6	243	\$1,458	3 PERSONAL
\TI\	6	\$7	729	\$5,103	
PL/	7	\$7	2,187	\$15,309	6 PERSONAL
	8	\$6	6,561	\$39,366	
	9	\$6	19,683	\$118,098	9 PERSONAL

**TOTAL:** \$180,015

# **EXECUTIVE EARNED POSITIONS**

3 Personally Enrolled

HTA/PPA's\*

SILVER

Coded Residual

Income

Paid Level 1-5

(Matrix)

**Oualified Emerald** 250 Agents\* 3 non-GPS Agent Customers

Enrolled HTA/ PPA's\* 3 Qualified Ruby's

\$600

CAR BONUS\*\*

\$600

Lifestyle BONUS

15 Personally

#### 1 STAR **AMBASSADOR**

**EMERALD** 

\$2,000 CAR BONUS

3-Star Ambassador and above\*\*

\$1,000 Lifestyle BONUS

Ambassador **BONUS** 

**TEAM BONUS available from** \$5 - \$50

6 Personally

#### **GOLD**

Residual Matrix Match

- Personally Enrolled PPA's

8% Matrix Match -Coded PPA's

> Paid Level 1-7 (Matrix)

1 Personally Enrolled HTA/PPA\*

#### **PLATINUM PLUS AGENT**

75% Travel Commissions

Paid Level 1-4 (Matrix)

**GPT Quarterly** Customer Pool

9 Personally

Enrolled HTA/PPA's\*

**RUBY** 

Paid Level 1-9

(Matrix)

Enrolled HTA/PPA's\*

10% Matrix Match



# GLOBAL PLATINUM TRAVEL QUARTERLY CUSTOMER BONUS POOL





**25 GPT** Customers

# 50%

50 GPT Customers 50% IS DIVIDED AMONG ALL 50 **GPT MEMBERS** 

\*You must add 2 new GPT customers each month in order to re-qualify

# **OPEN-LINE TEAM BONUS**

RANK & LEVEL	BONUS PAYOUTS	EXAMPLES
RUBY	\$5.00	30 HTA/PPA's X \$5.00 = \$150
EMERALD	\$5.00	75 HTA/PPA's X \$10.00 = \$750
1-STAR AMBASSADOR	\$7.50	100 HTA/PPA'S X \$17.50 = \$1,750
2-STAR AMBASSADOR	\$10.00	150 HTA/PPA'S X \$27.50 = \$4,125
3-STAR AMBASSADOR	\$10.00	200 HTA/PPA'S X \$37.50 = \$7,500
4-STAR AMBASSADOR	\$10.00	250 HTA/PPA'S X \$47.50 = \$11,875
5-STAR AMBASSADOR	\$2.50	300 HTA/PPA'S X \$50.00 = \$15,000

<sup>\*</sup>Hypothetical Example: Based on new open-line Agents enrolling with a HTA/PPA package

## **AMBASSADOR LEVEL**

RANK & LEVEL	SIZE OF TEAM	MONTHLY AMBASSADOR BONUS
1-STAR AMBASSADOR	250	\$1,000
2-STAR AMBASSADOR	425	\$2,000
3-STAR AMBASSADOR	1,100	\$5,000
4-STAR AMBASSADOR	3,000	\$10,000
5-STAR AMBASSADOR	8,000	\$16,000
6-STAR AMBASSADOR	16,000	\$30,000
CROWN AMBASSADOR	32,000	\$50,000
ROYAL AMBASSADOR	60,000	\$100,000



SILVER GOLD RUBY EMERALD

**\$1**00 **\$2**50 **\$500 \$750** 





# PROGRAM

#### **QUALIFICATIONS:**

- Emerald rank and above
- 100 active Global Platinum Travel customers (non-GPS Agents) or 100 Platinum Plus Agents
- Must have 3 active lines
- Adhere to 35% rule

### MERCEDES S-CLASS

CAR BONUS PROGRAM

#### **QUALIFICATIONS:**

- 3 STAR Ambassador and above
- 325 active Global Platinum Travel customers (non-GPS Agents) or
   325 Platinum Plus Agents
- Must have 3 active lines
- Adhere to 35% rule





# TRAINING & SUPPORT

- Ambassador Academy Online Training Platform
- Customer service
- Weekly leadership calls
- Weekly corporate calls
- Proven success system
- Online Travel Training



# **HOW TO GET STARTED**

Host Agent \$149.95 \$69.95 MONTHLY SUBSCRIPTION FEE Platinum Plus Agent \$199.95 \$89.95 MONTHLY SUBSCRIPTION FEE

- Up to 75-90% in travel commissions
- Global Platinum Travel membership
- Professional online travel website
- Virtual travel back office
- Online travel training
- Complimentary 2 night stay at the Grand Oasis in Cancun, Mexico

#### **ALL HOST TRAVEL AGENT BENEFITS PLUS:**

- Participation in the GPS Marketing Program
  - Personal sale commission
  - Personal sale commission overrides
  - Monthly coded residual income
  - 3x9 residual matrix
  - Executive earned positions
  - Quarterly customer bonus pool
  - Open-line bonus
  - Fast start bonus
  - Lifestyle bonus
  - Car bonus program
  - Ambassador bonus
- GPS MY Deals App

# JOIN

#### THE CONVERSATION



Facebook.com/globalplatinumservices



Instagram.com/globalplatinumservices



Twitter/@globalplatinum



# YOUR ADVENTURE STARTS NOW!

